

BID 25-23 TABULATION

South Wenonah Avenue Roadway Improvements - Phase 2 (Base Bid Items)

City of Wichita Falls

November 13, 2025

Wilson Contracting

2184 Sligar Road

Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc

5202 Old Jacksboro Highway

Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
1	100%	LS	Mobilization, Insurance, & Bonding	\$75,000.00	\$75,000.00	\$157,000.00	\$157,000.00
2	100%	LS	Demolition & Site Preparation for Pavement, Drainage, & Water Distribution Improvements	\$35,000.00	\$35,000.00	\$100,100.00	\$100,100.00
3	2,050	LF	Furnish & Install 10" PVC (C-900) Pipe	\$80.50	\$165,025.00	\$73.50	\$150,675.00
4	1,000	LF	Furnish & Install 6" PVC (C-900) Pipe	\$57.50	\$57,500.00	\$52.50	\$52,500.00
5	35	LF	Furnish & Install 18" Steel Casing (Open-Cut)	\$333.50	\$11,672.50	\$304.50	\$10,657.50
6	150	LF	Furnish & Install 12" Steel Casing (Open-Cut)	\$155.25	\$23,287.50	\$141.75	\$21,262.50
7	40	LF	Furnish & Install Boring (No Casing) & 10" PVC (C-900) Carrier Pipe	\$143.75	\$5,750.00	\$131.25	\$5,250.00
8	30	LF	Furnish & Install Boring (No Casing) & 6" PVC (C-900) Carrier Pipe	\$126.50	\$3,795.00	\$115.50	\$3,465.00
9	4	EA	Furnish & Install 10" Gate Valve & Box	\$4,600.00	\$18,400.00	\$4,200.00	\$16,800.00
10	2	EA	Furnish & Install 6" Gate Valve & Box	\$2,300.00	\$4,600.00	\$2,100.00	\$4,200.00
11	3	EA	Furnish & Install Standard Fire Hydrant Assembly	\$9,200.00	\$27,600.00	\$8,400.00	\$25,200.00
12	100%	LS	Furnish & Install 20" Main Connection	\$11,500.00	\$11,500.00	\$10,500.00	\$10,500.00
13	100%	LS	Furnish & Install 10" Main Connection	\$6,900.00	\$6,900.00	\$6,300.00	\$6,300.00
14	100%	LS	Furnish & Install 6" Main Connection-01	\$4,600.00	\$4,600.00	\$4,200.00	\$4,200.00
15	100%	LS	Furnish & Install 6" Main Connection-02	\$4,600.00	\$4,600.00	\$4,200.00	\$4,200.00
16	100%	LS	Furnish & Install 6" Main Connection-03	\$1,725.00	\$1,725.00	\$1,575.00	\$1,575.00
17	100%	LS	Furnish & Install 6" Main Connection-04	\$1,725.00	\$1,725.00	\$1,575.00	\$1,575.00
18	1	EA	Reconnect Existing 1" Water Service/Meter including Short Service Line	\$2,300.00	\$2,300.00	\$2,100.00	\$2,100.00
19	3	EA	Reconnect Existing 3/4" Water Service/Meter including Long Service Line	\$2,300.00	\$6,900.00	\$2,100.00	\$6,300.00
20	1	EA	Reconnect Existing 3/4" Water Service/Meter including Short Service Line	\$1,725.00	\$1,725.00	\$1,575.00	\$1,575.00
21	550	LF	Abandon Existing 20" Water Main In-Place (Cut, Purge, Pressure Grout, & Cap/Plug)	\$74.75	\$41,112.50	\$68.25	\$37,537.50
22	75	LF	Abandon Existing 6" Water Main In-Place (Cut, Purge, Pressure Grout, & Cap/Plug)	\$57.50	\$4,312.50	\$52.50	\$3,937.50
23	1	EA	Salvage Abandoned Fire Hydrant Assembly	\$2,300.00	\$2,300.00	\$2,100.00	\$2,100.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Base Bid Items)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
24	7,400	CY	Unclassified Excavation for South Wenonah Avenue Improvements	\$12.00	\$88,800.00	\$11.00	\$81,400.00
25	6,150	CY	Compacted Fill for South Wenonah Avenue Improvements	\$17.00	\$104,550.00	\$14.00	\$86,100.00
26	5,650	SY	Place, Mix, Compact, & Proof-Roll 8" Lime Stabilized Subgrade	\$12.50	\$70,625.00	\$20.00	\$113,000.00
27	1,100	SY	Place, Mix, Compact, & Proof-Roll 6" Lime Stabilized Subgrade	\$12.00	\$13,200.00	\$18.00	\$19,800.00
28	5,400	SY	Construct/Install 8" Reinforced Concrete Pavement with Monolithic Curb	\$90.00	\$486,000.00	\$100.00	\$540,000.00
29	1,050	SY	Construct/Install 7" Reinforced Concrete Pavement with Monolithic Curb	\$87.61	\$91,990.50	\$82.00	\$86,100.00
30	900	SY	Construct/Install 6" Reinforced Concrete Drive Approach	\$85.02	\$76,518.00	\$72.00	\$64,800.00
31	650	SY	Construct/Install Reinforced Concrete Sidewalk	\$65.75	\$42,737.50	\$73.00	\$47,450.00
32	6	EA	Construct/Install Perpendicular/Flared Pedestrian Ramp/Crossing	\$1,050.00	\$6,300.00	\$725.00	\$4,350.00
33	2	EA	Construct/Install Directional/Straight Pedestrian Ramp/Crossing	\$750.00	\$1,500.00	\$300.00	\$600.00
34	50	LF	Install 8' x 4' Reinforced Concrete Box Culvert	\$1,167.25	\$58,362.50	\$1,065.75	\$53,287.50
35	250	LF	Install 7' x 4' Reinforced Concrete Box Culvert	\$897.00	\$224,250.00	\$819.00	\$204,750.00
36	525	LF	Install 5' x 4' Reinforced Concrete Box Culvert	\$603.75	\$316,968.75	\$551.25	\$289,406.25
37	35	LF	Furnish & Install 48" RCP (Class III) Drainage Pipe	\$316.25	\$11,068.75	\$288.75	\$10,106.25
38	75	LF	Furnish & Install 42" RCP (Class III) Drainage Pipe	\$270.25	\$20,268.75	\$246.75	\$18,506.25
39	325	LF	Furnish & Install 36" RCP (Class III) Drainage Pipe	\$212.75	\$69,143.75	\$194.25	\$63,131.25
40	300	LF	Furnish & Install 30" RCP (Class III) Drainage Pipe	\$178.25	\$53,475.00	\$162.75	\$48,825.00
41	25	LF	Furnish & Install 24" RCP (Class III) Drainage Pipe	\$155.25	\$3,881.25	\$141.75	\$3,543.75

South Wenonah Avenue Roadway Improvements - Phase 2 (Base Bid Items)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
42	1	EA	Furnish & Install 7' x 4' Precast Concrete Box Culvert x 30" RCP 45° Wye Connection	\$6,900.00	\$6,900.00	\$6,300.00	\$6,300.00
43	3	EA	Furnish & Install 5' x 4' Precast Concrete Box Culvert x 30" RCP 45° Wye Connection	\$6,900.00	\$20,700.00	\$6,300.00	\$18,900.00
44	1	EA	Furnish & Install 8' x 8' Reinforced Concrete Junction Box (CIP)	\$23,400.00	\$23,400.00	\$22,000.00	\$22,000.00
45	1	EA	Furnish & Install 7' x 7' Reinforced Concrete Junction Box (CIP)	\$15,800.00	\$15,800.00	\$19,700.00	\$19,700.00
46	1	EA	Furnish & Install 5' x 5' Reinforced Concrete Junction Box (CIP)	\$9,500.00	\$9,500.00	\$14,800.00	\$14,800.00
47	1	EA	Furnish & Install 5' x 5' Precast Junction Box	\$8,625.00	\$8,625.00	\$7,875.00	\$7,875.00
48	1	EA	Furnish & Install 4' x 4' Precast Junction Box	\$6,325.00	\$6,325.00	\$5,775.00	\$5,775.00
49	1	EA	Furnish & Install 3' x 3' Precast Area Inlet & Reinforced Concrete Apron	\$4,600.00	\$4,600.00	\$5,400.00	\$5,400.00
50	6	EA	Construct/Install 20' Reinforced Concrete Recessed Curb Inlet	\$22,000.00	\$132,000.00	\$32,000.00	\$192,000.00
51	6	EA	Construct/Install 15' Reinforced Concrete Recessed Curb Inlet	\$17,000.00	\$102,000.00	\$24,600.00	\$147,600.00
52	2	EA	Construct/Install 20' Reinforced Concrete Standard Curb Inlet	\$21,250.00	\$42,500.00	\$30,500.00	\$61,000.00
53	100%	LS	Construct/Install Reinforced Concrete Drainage Structure A1	\$12,240.00	\$12,240.00	\$36,800.00	\$36,800.00
54	100%	LS	Construct/Install Reinforced Concrete Drainage Structure A2	\$11,700.00	\$11,700.00	\$36,000.00	\$36,000.00
55*	1	EA	Furnish & Install 36" Precast Headwall (TxDOT Safety End Treatment)	\$6,900.00	\$6,900.00	\$7,000.00	\$7,000.00
56*	2,500	CY	Unclassified Excavation for Grass Lined Channel Improvements	\$15.50	\$38,750.00	\$14.00	\$35,000.00
57*	325	SY	Furnish & Install Rock Rip Rap	\$70.00	\$22,750.00	\$120.00	\$39,000.00
58	100%	LS	Furnish & Install Illumination System	\$119,132.40	\$119,132.40	\$157,543.60	\$157,543.60
59*	20,200	SY	Final Grading & Re-Vegetation Hydromulching	\$2.15	\$43,430.00	\$4.00	\$80,800.00
60*	6,100	SY	Furnish & Install Erosion Control Blankets	\$1.70	\$10,370.00	\$3.75	\$22,875.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Base Bid Items)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
61*	2	EA	Furnish & Install Dead End Street Type III Barricade	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00
62	2,850	LF	Furnish & Install 4" Solid Yellow Thermoplastic Stripe	\$2.28	\$6,498.00	\$8.00	\$22,800.00
63	300	LF	Furnish & Install 4" Broken Yellow Thermoplastic Stripe	\$2.28	\$684.00	\$8.00	\$2,400.00
64	350	LF	Furnish & Install 4" Solid White Thermoplastic Stripe	\$2.28	\$798.00	\$8.00	\$2,800.00
65	100	LF	Furnish & Install 24" Solid White Thermoplastic Stripe (Stop Bar & Crosswalk)	\$13.65	\$1,365.00	\$75.00	\$7,500.00
66	6	EA	Furnish & Install White Prefabricated (Type C) Straight Pavement Arrow	\$383.50	\$2,301.00	\$450.00	\$2,700.00
67	2	EA	Furnish & Install White Prefabricated (Type C) Right Pavement Arrow	\$383.50	\$767.00	\$450.00	\$900.00
68	4	EA	Furnish & Install White Prefabricated (Type C) Left Pavement Arrow	\$383.50	\$1,534.00	\$450.00	\$1,800.00
69	12	EA	Furnish & Install White Prefabricated (Type C) "Only" Pavement Marker	\$422.50	\$5,070.00	\$700.00	\$8,400.00
70	20	SF	Furnish & Install White Prefabricated (Type C) Yield Line Pavement Marker	\$142.50	\$2,850.00	\$15.00	\$300.00
71	1	EA	Furnish & Install Stop Sign	\$1,250.00	\$1,250.00	\$2,800.00	\$2,800.00
72	3	EA	Furnish & Install Pedestrian Crossing Ahead Sign	\$1,400.00	\$4,200.00	\$2,800.00	\$8,400.00
73	3	EA	Furnish & Install Pedestrian Crossing Sign	\$1,400.00	\$4,200.00	\$2,800.00	\$8,400.00
74	3	EA	Furnish & Install Yield Here for Pedestrian Sign	\$1,000.00	\$3,000.00	\$2,800.00	\$8,400.00
75	100%	LS	Traffic Control Plan, Devices, and Structures to comply with (MUTCD)	\$6,500.00	\$6,500.00	\$15,000.00	\$15,000.00
76	100%	LS	Stormwater Pollution Prevention Plan (SWPPP), Erosion Control Methods, & Facilities/Structures	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00
TOTAL AMOUNT (BASE BID ITEMS)					\$2,948,609.15		\$3,395,134.85

Note:

*Bid Items No. 55 , 56, 57, 59, 60 & 61 will be eliminated or quantities reduced if the Additive Bid Items are awarded

South Wenonah Avenue Roadway Improvements - Phase 2 (Additive Bid Items)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
1A	100%	LS	Mobilization, Insurance, & Bonding	\$20,000.00	\$20,000.00	\$40,250.00	\$40,250.00
2A	100%	LS	Demolition & Site Preparation for Pavement, Drainage, & Water Distribution Improvements	\$6,250.00	\$6,250.00	\$45,500.00	\$45,500.00
3A	365	CY	Unclassified Excavation for South Wenonah Avenue Improvements	\$12.00	\$4,380.00	\$11.00	\$4,015.00
4A	2,650	CY	Compacted Fill for South Wenonah Avenue Improvements	\$17.00	\$45,050.00	\$22.00	\$58,300.00
5A	3,400	SY	Place, Mix, Compact, & Proof-Roll 8" Lime Stabilized Subgrade	\$12.50	\$42,500.00	\$20.00	\$68,000.00
6A	3,300	SY	Construct/Install 8" Reinforced Concrete Pavement with Monolithic Curb	\$90.00	\$297,000.00	\$100.00	\$330,000.00
7A	125	SY	Construct/Install Reinforced Concrete Sidewalk	\$65.75	\$8,218.75	\$73.00	\$9,125.00
8A	2	EA	Construct/Install Perpendicular/Flared Pedestrian Ramp/Crossing	\$1,050.00	\$2,100.00	\$900.00	\$1,800.00
9A	50	LF	Furnish & Install 48" RCP (Class III) Drainage Pipe	\$333.50	\$16,675.00	\$304.50	\$15,225.00
10A	550	LF	Furnish & Install 42" RCP (Class III) Drainage Pipe	\$287.50	\$158,125.00	\$262.50	\$144,375.00
11A	50	LF	Furnish & Install 24" RCP (Class III) Drainage Pipe	\$155.25	\$7,762.50	\$141.75	\$7,087.50
12A	1	EA	Furnish & Install 42" x 24" Precast 45° RCP	\$2,875.00	\$2,875.00	\$2,625.00	\$2,625.00
13A	1	EA	Furnish & Install 5' x 5' Precast Junction Box	\$8,625.00	\$8,625.00	\$7,875.00	\$7,875.00
14A	2	EA	Furnish & Install 3' x 3' Precast Area Inlet & Reinforced Concrete Apron	\$4,600.00	\$9,200.00	\$4,200.00	\$8,400.00
15A	2	EA	Construct/Install 15' Reinforced Concrete Recessed Curb Inlet	\$17,000.00	\$34,000.00	\$24,600.00	\$49,200.00
16A	100%	LS	Construct/Install Reinforced Concrete Drainage Structure C1	\$12,240.00	\$12,240.00	\$36,800.00	\$36,800.00
17A	100%	LS	Furnish & Install Illumination System	\$33,300.00	\$33,300.00	\$56,710.35	\$56,710.35
18A	2,380	LF	Furnish & Install 4" Solid Yellow Thermoplastic Stripe	\$2.28	\$5,426.40	\$8.00	\$19,040.00
19A	240	LF	Furnish & Install 4" Broken Yellow Thermoplastic Stripe	\$2.28	\$547.20	\$8.00	\$1,920.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Additive Bid Items)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
20A	120	LF	Furnish & Install 24" Solid White Thermoplastic Stripe (Stop Bar & Crosswalk)	\$13.65	\$1,638.00	\$75.00	\$9,000.00
21A	1	EA	Furnish & Install White Prefabricated (Type C) Left Pavement Arrow	\$383.50	\$383.50	\$450.00	\$450.00
22A	1	EA	Furnish & Install Stop Sign	\$1,250.00	\$1,250.00	\$2,800.00	\$2,800.00
23A	1	EA	Furnish & Install Turning Vehicles Yield to Pedestrian Sign	\$1,000.00	\$1,000.00	\$2,800.00	\$2,800.00
24A	100%	LS	Traffic Control Plan, Devices, and Structures to comply with (MUTCD)	\$2,000.00	\$2,000.00	\$2,800.00	\$2,800.00
25A	100%	LS	Stormwater Pollution Prevention Plan (SWPPP), Erosion Control Methods, & Facilities/Structures	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00
TOTAL AMOUNT (ADDITIVE BID ITEMS)				\$726,046.35			\$932,097.85

South Wenonah Avenue Roadway Improvements - Phase 2 (Total Project Cost)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
BASE BID ITEMS							
1	100%	LS	Mobilization, Insurance, & Bonding	\$75,000.00	\$75,000.00	\$157,000.00	\$157,000.00
2	100%	LS	Demolition & Site Preparation for Pavement, Drainage, & Water Distribution Improvements	\$35,000.00	\$35,000.00	\$100,100.00	\$100,100.00
3	2,050	LF	Furnish & Install 10" PVC (C-900) Pipe	\$80.50	\$165,025.00	\$73.50	\$150,675.00
4	1,000	LF	Furnish & Install 6" PVC (C-900) Pipe	\$57.50	\$57,500.00	\$52.50	\$52,500.00
5	35	LF	Furnish & Install 18" Steel Casing (Open-Cut)	\$333.50	\$11,672.50	\$304.50	\$10,657.50
6	150	LF	Furnish & Install 12" Steel Casing (Open-Cut)	\$155.25	\$23,287.50	\$141.75	\$21,262.50
7	40	LF	Furnish & Install Boring (No Casing) & 10" PVC (C-900) Carrier Pipe	\$143.75	\$5,750.00	\$131.25	\$5,250.00
8	30	LF	Furnish & Install Boring (No Casing) & 6" PVC (C-900) Carrier Pipe	\$126.50	\$3,795.00	\$115.50	\$3,465.00
9	4	EA	Furnish & Install 10" Gate Valve & Box	\$4,600.00	\$18,400.00	\$4,200.00	\$16,800.00
10	2	EA	Furnish & Install 6" Gate Valve & Box	\$2,300.00	\$4,600.00	\$2,100.00	\$4,200.00
11	3	EA	Furnish & Install Standard Fire Hydrant Assembly	\$9,200.00	\$27,600.00	\$8,400.00	\$25,200.00
12	100%	LS	Furnish & Install 20" Main Connection	\$11,500.00	\$11,500.00	\$10,500.00	\$10,500.00
13	100%	LS	Furnish & Install 10" Main Connection	\$6,900.00	\$6,900.00	\$6,300.00	\$6,300.00
14	100%	LS	Furnish & Install 6" Main Connection-01	\$4,600.00	\$4,600.00	\$4,200.00	\$4,200.00
15	100%	LS	Furnish & Install 6" Main Connection-02	\$4,600.00	\$4,600.00	\$4,200.00	\$4,200.00
16	100%	LS	Furnish & Install 6" Main Connection-03	\$1,725.00	\$1,725.00	\$1,575.00	\$1,575.00
17	100%	LS	Furnish & Install 6" Main Connection-04	\$1,725.00	\$1,725.00	\$1,575.00	\$1,575.00
18	1	EA	Reconnect Existing 1" Water Service/Meter including Short Service Line	\$2,300.00	\$2,300.00	\$2,100.00	\$2,100.00
19	3	EA	Reconnect Existing 3/4" Water Service/Meter including Long Service Line	\$2,300.00	\$6,900.00	\$2,100.00	\$6,300.00
20	1	EA	Reconnect Existing 3/4" Water Service/Meter including Short Service Line	\$1,725.00	\$1,725.00	\$1,575.00	\$1,575.00
21	550	LF	Abandon Existing 20" Water Main In-Place (Cut, Purge, Pressure Grout, & Cap/Plug)	\$74.75	\$41,112.50	\$68.25	\$37,537.50

South Wenonah Avenue Roadway Improvements - Phase 2 (Total Project Cost)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
22	75	LF	Abandon Existing 6" Water Main In-Place (Cut, Purge, Pressure Grout, & Cap/Plug)	\$57.50	\$4,312.50	\$52.50	\$3,937.50
23	1	EA	Salvage Abandoned Fire Hydrant Assembly	\$2,300.00	\$2,300.00	\$2,100.00	\$2,100.00
24	7,400	CY	Unclassified Excavation for South Wenonah Avenue Improvements	\$12.00	\$88,800.00	\$11.00	\$81,400.00
25	6,150	CY	Compacted Fill for South Wenonah Avenue Improvements	\$17.00	\$104,550.00	\$14.00	\$86,100.00
26	5,650	SY	Place, Mix, Compact, & Proof-Roll 8" Lime Stabilized Subgrade	\$12.50	\$70,625.00	\$20.00	\$113,000.00
27	1,100	SY	Place, Mix, Compact, & Proof-Roll 6" Lime Stabilized Subgrade	\$12.00	\$13,200.00	\$18.00	\$19,800.00
28	5,400	SY	Construct/Install 8" Reinforced Concrete Pavement with Monolithic Curb	\$90.00	\$486,000.00	\$100.00	\$540,000.00
29	1,050	SY	Construct/Install 7" Reinforced Concrete Pavement with Monolithic Curb	\$87.61	\$91,990.50	\$82.00	\$86,100.00
30	900	SY	Construct/Install 6" Reinforced Concrete Drive Approach	\$85.02	\$76,518.00	\$72.00	\$64,800.00
31	650	SY	Construct/Install Reinforced Concrete Sidewalk	\$65.75	\$42,737.50	\$73.00	\$47,450.00
32	6	EA	Construct/Install Perpendicular/Flared Pedestrian Ramp/Crossing	\$1,050.00	\$6,300.00	\$725.00	\$4,350.00
33	2	EA	Construct/Install Directional/Straight Pedestrian Ramp/Crossing	\$750.00	\$1,500.00	\$300.00	\$600.00
34	50	LF	Install 8' x 4' Reinforced Concrete Box Culvert	\$1,167.25	\$58,362.50	\$1,065.75	\$53,287.50
35	250	LF	Install 7' x 4' Reinforced Concrete Box Culvert	\$897.00	\$224,250.00	\$819.00	\$204,750.00
36	525	LF	Install 5' x 4' Reinforced Concrete Box Culvert	\$603.75	\$316,968.75	\$551.25	\$289,406.25
37	35	LF	Furnish & Install 48" RCP (Class III) Drainage Pipe	\$316.25	\$11,068.75	\$288.75	\$10,106.25
38	75	LF	Furnish & Install 42" RCP (Class III) Drainage Pipe	\$270.25	\$20,268.75	\$246.75	\$18,506.25
39	325	LF	Furnish & Install 36" RCP (Class III) Drainage Pipe	\$212.75	\$69,143.75	\$194.25	\$63,131.25
40	300	LF	Furnish & Install 30" RCP (Class III) Drainage Pipe	\$178.25	\$53,475.00	\$162.75	\$48,825.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Total Project Cost)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
41	25	LF	Furnish & Install 24" RCP (Class III) Drainage Pipe	\$155.25	\$3,881.25	\$141.75	\$3,543.75
42	1	EA	Furnish & Install 7' x 4' Precast Concrete Box Culvert x 30" RCP 45° Wye Connection	\$6,900.00	\$6,900.00	\$6,300.00	\$6,300.00
43	3	EA	Furnish & Install 5' x 4' Precast Concrete Box Culvert x 30" RCP 45° Wye Connection	\$6,900.00	\$20,700.00	\$6,300.00	\$18,900.00
44	1	EA	Furnish & Install 8' x 8' Reinforced Concrete Junction Box (CIP)	\$23,400.00	\$23,400.00	\$22,000.00	\$22,000.00
45	1	EA	Furnish & Install 7' x 7' Reinforced Concrete Junction Box (CIP)	\$15,800.00	\$15,800.00	\$19,700.00	\$19,700.00
46	1	EA	Furnish & Install 5' x 5' Reinforced Concrete Junction Box (CIP)	\$9,500.00	\$9,500.00	\$14,800.00	\$14,800.00
47	1	EA	Furnish & Install 5' x 5' Precast Junction Box	\$8,625.00	\$8,625.00	\$7,875.00	\$7,875.00
48	1	EA	Furnish & Install 4' x 4' Precast Junction Box	\$6,325.00	\$6,325.00	\$5,775.00	\$5,775.00
49	1	EA	Furnish & Install 3' x 3' Precast Area Inlet & Reinforced Concrete Apron	\$4,600.00	\$4,600.00	\$5,400.00	\$5,400.00
50	6	EA	Construct/Install 20' Reinforced Concrete Recessed Curb Inlet	\$22,000.00	\$132,000.00	\$32,000.00	\$192,000.00
51	6	EA	Construct/Install 15' Reinforced Concrete Recessed Curb Inlet	\$17,000.00	\$102,000.00	\$24,600.00	\$147,600.00
52	2	EA	Construct/Install 20' Reinforced Concrete Standard Curb Inlet	\$21,250.00	\$42,500.00	\$30,500.00	\$61,000.00
53	100%	LS	Construct/Install Reinforced Concrete Drainage Structure A1	\$12,240.00	\$12,240.00	\$36,800.00	\$36,800.00
54	100%	LS	Construct/Install Reinforced Concrete Drainage Structure A2	\$11,700.00	\$11,700.00	\$36,000.00	\$36,000.00
58	100%	LS	Furnish & Install Illumination System	\$119,132.40	\$119,132.40	\$157,543.60	\$157,543.60
59*	17,500	SY	Final Grading & Re-Vegetation Hydromulching	\$2.15	\$37,625.00	\$4.00	\$70,000.00
60*	5,200	SY	Furnish & Install Erosion Control Blankets	\$1.70	\$8,840.00	\$3.75	\$19,500.00
62	2,850	LF	Furnish & Install 4" Solid Yellow Thermoplastic Stripe	\$2.28	\$6,498.00	\$8.00	\$22,800.00
63	300	LF	Furnish & Install 4" Broken Yellow Thermoplastic Stripe	\$2.28	\$684.00	\$8.00	\$2,400.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Total Project Cost)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
64	350	LF	Furnish & Install 4" Solid White Thermoplastic Stripe	\$2.28	\$798.00	\$8.00	\$2,800.00
65	100	LF	Furnish & Install 24" Solid White Thermoplastic Stripe (Stop Bar & Crosswalk)	\$13.65	\$1,365.00	\$75.00	\$7,500.00
66	6	EA	Furnish & Install White Prefabricated (Type C) Straight Pavement Arrow	\$383.50	\$2,301.00	\$450.00	\$2,700.00
67	2	EA	Furnish & Install White Prefabricated (Type C) Right Pavement Arrow	\$383.50	\$767.00	\$450.00	\$900.00
68	4	EA	Furnish & Install White Prefabricated (Type C) Left Pavement Arrow	\$383.50	\$1,534.00	\$450.00	\$1,800.00
69	12	EA	Furnish & Install White Prefabricated (Type C) "Only" Pavement Marker	\$422.50	\$5,070.00	\$700.00	\$8,400.00
70	20	SF	Furnish & Install White Prefabricated (Type C) Yield Line Pavement Marker	\$142.50	\$2,850.00	\$15.00	\$300.00
71	1	EA	Furnish & Install Stop Sign	\$1,250.00	\$1,250.00	\$2,800.00	\$2,800.00
72	3	EA	Furnish & Install Pedestrian Crossing Ahead Sign	\$1,400.00	\$4,200.00	\$2,800.00	\$8,400.00
73	3	EA	Furnish & Install Pedestrian Crossing Sign	\$1,400.00	\$4,200.00	\$2,800.00	\$8,400.00
74	3	EA	Furnish & Install Yield Here for Pedestrian Sign	\$1,000.00	\$3,000.00	\$2,800.00	\$8,400.00
75	100%	LS	Traffic Control Plan, Devices, and Structures to comply with (MUTCD)	\$6,500.00	\$6,500.00	\$15,000.00	\$15,000.00
76	100%	LS	Stormwater Pollution Prevention Plan (SWPPP), Erosion Control Methods & Facilities/Structures	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00
ADDITIVE BID ITEMS							
1A	100%	LS	Mobilization, Insurance, & Bonding	\$20,000.00	\$20,000.00	\$40,250.00	\$40,250.00
2A	100%	LS	Demolition & Site Preparation for Pavement, Drainage, & Water Distribution Improvements	\$6,250.00	\$6,250.00	\$45,500.00	\$45,500.00
3A	365	CY	Unclassified Excavation for South Wenonah Avenue Improvements	\$12.00	\$4,380.00	\$11.00	\$4,015.00
4A	2,650	CY	Compacted Fill for South Wenonah Avenue Improvements	\$17.00	\$45,050.00	\$22.00	\$58,300.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Total Project Cost)
 City of Wichita Falls
 November 13, 2025

Wilson Contracting
 2184 Sligar Road
 Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
 5202 Old Jacksboro Highway
 Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
5A	3,400	SY	Place, Mix, Compact, & Proof-Roll 8" Lime Stabilized Subgrade	\$12.50	\$42,500.00	\$20.00	\$68,000.00
6A	3,300	SY	Construct/Install 8" Reinforced Concrete Pavement with Monolithic Curb	\$90.00	\$297,000.00	\$100.00	\$330,000.00
7A	125	SY	Construct/Install Reinforced Concrete Sidewalk	\$65.75	\$8,218.75	\$73.00	\$9,125.00
8A	2	EA	Construct/Install Perpendicular/Flared Pedestrian Ramp/Crossing	\$1,050.00	\$2,100.00	\$900.00	\$1,800.00
9A	50	LF	Furnish & Install 48" RCP (Class III) Drainage Pipe	\$333.50	\$16,675.00	\$304.50	\$15,225.00
10A	550	LF	Furnish & Install 42" RCP (Class III) Drainage Pipe	\$287.50	\$158,125.00	\$262.50	\$144,375.00
11A	50	LF	Furnish & Install 24" RCP (Class III) Drainage Pipe	\$155.25	\$7,762.50	\$141.75	\$7,087.50
12A	1	EA	Furnish & Install 42" x 24" Precast 45° RCP	\$2,875.00	\$2,875.00	\$2,625.00	\$2,625.00
13A	1	EA	Furnish & Install 5' x 5' Precast Junction Box	\$8,625.00	\$8,625.00	\$7,875.00	\$7,875.00
14A	2	EA	Furnish & Install 3' x 3' Precast Area Inlet & Reinforced Concrete Apron	\$4,600.00	\$9,200.00	\$4,200.00	\$8,400.00
15A	2	EA	Construct/Install 15' Reinforced Concrete Recessed Curb Inlet	\$17,000.00	\$34,000.00	\$24,600.00	\$49,200.00
16A	100%	LS	Construct/Install Reinforced Concrete Drainage Structure C1	\$12,240.00	\$12,240.00	\$36,800.00	\$36,800.00
17A	100%	LS	Furnish & Install Illumination System	\$33,300.00	\$33,300.00	\$56,710.35	\$56,710.35
18A	2,380	LF	Furnish & Install 4" Solid Yellow Thermoplastic Stripe	\$2.28	\$5,426.40	\$8.00	\$19,040.00
19A	240	LF	Furnish & Install 4" Broken Yellow Thermoplastic Stripe	\$2.28	\$547.20	\$8.00	\$1,920.00
20A	120	LF	Furnish & Install 24" Solid White Thermoplastic Stripe (Stop Bar & Crosswalk)	\$13.65	\$1,638.00	\$75.00	\$9,000.00
21A	1	EA	Furnish & Install White Prefabricated (Type C) Left Pavement Arrow	\$383.50	\$383.50	\$450.00	\$450.00
22A	1	EA	Furnish & Install Stop Sign	\$1,250.00	\$1,250.00	\$2,800.00	\$2,800.00
23A	1	EA	Furnish & Install Turning Vehicles Yield to Pedestrian Sign	\$1,000.00	\$1,000.00	\$2,800.00	\$2,800.00

South Wenonah Avenue Roadway Improvements - Phase 2 (Total Project Cost)
City of Wichita Falls
November 13, 2025

Wilson Contracting
2184 Sligar Road
Wichita Falls, TX 76310

Scales Concrete Construction Co. Inc
5202 Old Jacksboro Highway
Wichita Falls, TX 76302

ITEM	QTY	UNITS	DESCRIPTION	\$ PER UNIT	TOTAL	\$ PER UNIT	TOTAL
24A	100%	LS	Traffic Control Plan, Devices, and Structures to comply with (MUTCD)	\$2,000.00	\$2,000.00	\$2,800.00	\$2,800.00
25A	100%	LS	Stormwater Pollution Prevention Plan (SWPPP), Erosion Control Methods, & Facilities/Structures	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00
TOTAL PROJECT BID AMOUNT					\$3,595,920.50		\$4,226,057.70

Notes:

1. Bid Items No. 55 , 56, 57 & 61 were eliminated to account for the inclusion of the Additive Bid Items
2. *Quantities for Bid Items No. 59 & 60 were reduced to account for the inclusion of the Additive Bid Items